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1. Neurons
a. support and nourish ghal cells.
b. transmit neural impulses.
c. are present only in higher animals like man.
d. are composed of many nerves bundled together.

2. The gap between two neurons across which communication eccurs is called

a. nucleus b. junction c. synapse  dsneurotransmitter

3. The strength of the action potential .

a. is the same regardiess of where on the neuron it is sampled.
b. varies according to the length of the axon.

c. varies according to the sirength of the original impulse.

d. varies according to the amount of sodium available for diffusion.

4. The autonomic nervous system is

a. involved in the unconscious regulation of internal organs and glands.
b. involved in the coordination of voluntary muscle groups.

¢. a component of the central nervous system.

d. controlled by the somatic nervous system.

5. Which of the following statements is an accurate summary of the relationship between the nervous system and

the endocrine system?

a. The activity of the two systems counteract each other; the nervous system tries to maintain the individual in a
state of calm, while the endocrine system tries to maintain the individual in a state of arousal.

b. Each system has its own specific function, and each works independently of the other.

c. Both systems operate through the use of chemical messengers, some of which are the same in both systems.

d. The activity of the endocrine system is much faster than that of the nervous system.

6. While Kelly is walking across campus, a large dog rushes out of the bushes and starts barking. Her heart races,
she starts breathing hard. What aspect of the nervous system is mediating this arousal?

a. sympathetic nervous system  b. parasympathetic nervous system

c. centrgl nervous system  d. somatic
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9. The reticular formation

a. sorts out sensory information and influenees levels of alertness.
b. is an important part of the limbic system.

c. produces reflexive responses.

d. monitors our blood sugar levels.

10. The major inhibitory ncurotransmitter in the brain is
a. glutamate. b. seretonin.
c¢. norepinephrine. d. GABA.

. EERRR (% - H20%)
1. Hebbian rule

2. ecological validity

3. sex-linked traits

4. electrophysiology
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7. Which task would probably require the largest area of motor cc;rtex for correct performance?

a. riding a horse b. writing your name
c. climbing stairs d. kicking a football
8. Sensory information associated with touch and pressure on the skin is processed in the lobe.
a. frontal b.  occipital
¢. parietal d. temporal
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